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1

(2 x 10) + 5  = ……..……

(1 x 10) + 3 = ……..……

(9 x 10) + 1 = ……..……

(4 x 10) + 7 = ……..……

(8 x 10) + 0  = ……..……

(6 x 10) + 9 = ……..……

(4 x 10) + 4 = ……..……

(8 x 10) + 5 = ……..……

(7 x 10) +7  = ……..……

(5 x 10) + 8 = ……..……

(3 x 10) + 2 = ……..……

(7 x 10) + 6 = ……..……

(8x10) + 1
200 +        80 +   1 =  281

(4 x 100) +(8 x 10) + 2 = ……..……

(2 x 100) +(6 x 10) = ……..……

(6 x 100) +(2 x 10) + 2 = ……..……

(9 x 100) + 1 = ……..……

(4 x 100) +(4 x 10) + 4 = ……..……

(6 x 100) +(7 x 10) + 3 = ……..……

(5 x 100) +(4 x 10) + 0 = ……..……

(3 x 100) +(5 x 10) + 7 = ……..……

(3 x 100) + 8 = ……..……

(7 x 100) +(2 x 10) + 6 = ……..……

(2 x 100) +(6 x 10) + 7 = ……..……

(9 x 100) +(4 x 10) + 9 = ……..……

2

(2x100) +
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(4 x 100) +(8 x 10) + 2 = 482

(2 x 100) +(6 x 10) = 260

(6 x 100) +(2 x 10) + 2 = 622

(9 x 100) + 1 = 901

(4 x 100) +(4 x 10) + 4 = 444

(6 x 100) +(7 x 10) + 3 = 673

(5 x 100) +(4 x 10) + 0 = 540

(3 x 100) +(5 x 10) + 7 = 357

(3 x 100) + 8 = 308

(7 x 100) +(2 x 10) + 6 = 726

(2 x 100) +(6 x 10) + 7 = 267

(9 x 100) +(4 x 10) + 9 = 949

°

1

2

(2 x 10) + 5  = 25

(1 x 10) + 3 = 13

(9 x 10) + 1 = 91

(4 x 10) + 7 = 47

(8 x 10) + 0  = 80

(6 x 10) + 9 = 69

(4 x 10) + 4 = 44

(8 x 10) + 5 = 85

(7 x 10) +7  = = 77

(5 x 10) + 8 = 58

(3 x 10) + 2 = 32

(7 x 10) + 6 = 76

(8x10) + 1
200 +        80 +   1 =  281

(2x100) +


